
 i.35 

 
i.54 

 
e.40 

 
e.54 

 160 

Strap-in Ø38 
Stainless Steel
Cod.300038530

Pipe N°1160 s.s
Cod.3015205201

Stainless steel Bracket
Prod. cod.0815205001
Purch. cod.206404

LV-10 Silencer 
stainless steel black 
Cod.309746485

Knurled collar nut M8
Cod.200298

Knurled collar 
nut M10
Cod.200607

Allen screws T.B.E.I. M8x20
Cod.200474

Plain washer 8x17x1.5
Cod.200294

Allen screws T.C.E.I. M10x55
Cod.206743

Short elical 
spring tensile 
Cod.303949001

Allluminium spacers
30X13X16.5

Cod.206307

ART. 15205B

KAWASAKI NINJA 250 R - NINJA 300 R / ABS - Z 250 - Z300 / ABS

SLIP-ON - LV-10 - BLACK

 
10

4 


	DT-15205B
	Vista del disegno7
	Vista del disegno8


